EARAROBREBRT —5 XN—ZXBISH—F

2022418198 (K) 1101@EF038

10R [MEZ=sEs]

B3= U5k

‘(fﬁ} W ‘I%EH?’JF&] | & 1000 =

[AE%] 1 7%&:2,500,000 § ~ 237&:875,000 @ . 37&:500,000H  435:375,000 ™ . 53&:250,000 H

B RS RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
1 . PARDE 2 H o4 15“%“8% 1:(28).7 2-2-2-1 |38.8| - 2 | 503 %Eﬁéé (rF0)
) _ HEE
RIAKI—YF— BPO—T4—IbR )\ zm £
1 RPPZZEY i o4 g%aaééﬁﬁ (1:29.2) 6-7-5-3 | 38.8| — 5 | 477 ;Té:i,%;ég (18)
. 2172 - B—
RiAAYIAVR—F— B:ho—SL—) G5 | Zaus
Sl : MEEEESE DL 8 gﬁoﬁﬂi 1(:29.)2 1-11-10-10|37.3 | — | 9 | 489 /EJE\EﬁEi (#10)
: IE A
RQURSVEYR BiAR—kHI—7 o s
~ o4 | HFEY 1:29.3 7-4-4-4 39.0| -— 1 478 | /NAIRE CGARD)
4lsl5 /:\I./tjl\ - N 5.0 R 4o | ZV—IT5Z ()
RE—UR BIYRY4R=— Sl
5 ) | ZYFEYYFE 6 Suélqgiﬁ?é 1(:29.)5 5-6-6-6 |38.8| - 8 | 449 g%gﬁ (B1E)
- . 3/4 _
LFUGARIVE B:YVF - R =i
W s 7 | BRE 1:29.7 1-1-1-2 [39.9| — 6 501 | SEfE— (A
61111 |Y—ITL7ZUITR 56.0 m ) | KBER
RPF—=UFY BFSUZR 2 s
= - 4 5 | LLIEEE 1:29.9 8-8-7-8 |39.3| — 4 470 | WWAEZE ()
71811 f\\U?’ /‘)(7-- 54.0 (3/4) () | FlbmiE
KR:€r/0704 B:=ZRh—1— & %
8 6| TUFREX LA ;ézﬁ-’g%’fﬁ 1 (:30.)0 99-9-9 [38.9| — | 10 | 470 g%g; (#F0)
. 3/4 =
RUFPAVIST b B RU—S VTN R O S se
97| 9 | TF—HIIvT 5 %ﬁgﬁérx 1(:30.;) 4587 |39.6| - 3| 459 ggi R0
. N BIRES
RTRARD— VY F— 87 7HU7— 2 1275 Laro57
» . 4 ¢ | BIHEHR 1:30.1 3-3-3-5 |40.2| — 7 522 | REEE (1)
108 10| T BAELT— 5.0 ) (s |EPmE
RinZ—ba1—X B:5T4H J—H¥YIr—I
1 3| EvoO-2x B4 g%%%;xﬂrs 1;(31).0 10-10-11-11] 38.7 | — | 11 | 469 i§§§f)§ GRFD)
. 4
ORI BAUIN 0| Sommgin
@ 1—F—&RIEL
13—7F— 1,7,10,9,2,8,5,11,6,3.,4
20—F— 1,7,10,5,9,2,8,11,6,3.,4
30—7+— 1,7,10,5,8,2,11,9,6,4,3
43—F— 7,1,8,5,10,2,9,11,6.4.3
o ILRE
BB 7 360 | [ DA K 7-8 670M e B 6-7 780M 3EE 4-7-8 32,640M
B B 7 200 4-7 2,970 (=1 6-7 1,190H4 3EH 7-8-4 68,880M
8 250 4-8 4,680M 5 & 7-8 1,760
4 740M =51 7-8 2,600

ABIC OV TRUTEREERRODDZE. THRIIZEL.




